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= b 262,402,903 269, 111,633 13,291,270
=2 169,617,538
2 96,667,000
p] 217,650
[ 15,900,715

USE BA L INXKND(BASS/MBILE - 2F) 282,360,488 269,063,218 13,297,270
= 169,617,538
Z 96,667,000
bJ 217,650
[ 15,858,300

BRI ZAL =5 156, 148,000 165,344,768 £9,196,768
= 147,200,000
[ 8,948,000

BAIZANE 29 - 22 8,500 17,960 29,460

202 01| 8,500 12,500 24,000

01 207l 8,500 12,500 £4,000
OBAINZANL B2l Y NEHY 8,500

Helst4HelAls XX (22) 396,500 177,808 218,692
= 305,000
= 91,500

403 REXIEHHISXH=0| 396,500 177,808 218,692
= 305,000
= 91,500

0 X SHA=EE 396,500 177,808 218,692
ONMQIB 4 H2IAE LX 396,500
= 305,000
< 91,500

EadelAEAY(2D) 1,134,000 724,000 410,000
= 1,134,000

403 XHXI SRS K= 0| 1,134,000 724,000 410,000
= 1,134,000

01 X SHAELE 1,134,000 724,000 410,000
ORnMRIANE BE 1,134,000
= 1,134,000

NEELBBHIANLLR(2D) 6,084,000 0 6,084,000
= 6,084,000

403 Xt XI SRS XH0| & 6,084,000 0 6,084,000
= 6,084,000

01 XX BHRIR=E X 6,084,000 0 6,084,000
oONEELBBHANEL 6,084,000
= 6,084,000

Staxelm &5(20) 54,812,000 66,749,000 A 11,937,000
= 47,516,000
= 7,296,000
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403 XXM S AH=0l & 54,812,000 66,749,000 A11,937,000
= 47,516,000
= 7,296,000

01 HXEMA=EE 54,812,000 66,749,000 211,937,000
Odt+=XLclE &5 54,812,000
= 47,516,000
= 7,296,000

St=XolE SAALIS &8(31) 10, 133,000 12,033,000 £.1,900,000
= 10, 133,000

403 XXM SXHE0IH 10, 133,000 12,033,000 21,900,000
= 10, 133,000

01 AXIEHMA2EE 10, 133,000 12,033,000 21,900,000
odt=x2IE sXga3 &% 10, 133,000
= 10, 133,000

St=2t HHI(321) 56,575,000 65,281,000 28,706,000
= 56,575,000

403 XXt H S =0l d 56,575,000 65,281,000 A8,706,000
= 56,575,000

01 RXSRA2E = 56,575,000 65,281,000 28,706,000
Ost=2tH FHdl 56,575,000
= 56,575,000

St SXtgcz as(=2) 29,000 88,000 259,000
= 29,000

403 XXM SXHE0I N 29,000 88,000 259,000
= 29,000

01 XM X 29,000 88,000 259,000
Odt=2) SXtcIS & 29,000
= 29,000

sO0E IS0+ FHI(21) 12,815,000 7,981,000 4,834,000
= 11,263,000
= 1,552,000

403 Tt XISHHSXHE01 12,815,000 7,981,000 4,834,000
= 11,263,000
= 1,552,000

01 XM 28X 12,815,000 7,981,000 4,834,000
O=s0E DiSdte=< FH| 12,815,000
= 11,263,000
S 1,552,000

St=2FH| BILEUE XS(31) 14,161,000 9,497,000 4,664,000
= 14,161,000

403 TtXISHHSXHE0IH 14,161,000 9,497,000 4,664,000
= 14,161,000

01 XM= E X 14,161,000 9,497,000 4,664,000
Odt=2t HEH| BTLAIY 2AMHE 14,161,000
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21,285,000
33,463,000
217,650
3,156,250

20,201,874
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Biotd S|AE(21)

H1 o

34,858,000

33,463,000
1,395,000

11,958,000

22,900,000

403 XM SA =01

H og

34,858,000

33,463,000
1,395,000

11,958,000

22,900,000

01 IXHH2EE
OMEsHY S A (2 )

OMEGHE SR ML (JIEIXY)

H oy

34,858,000
24,117,000
24,117,000
10,741,000

9,346,000
1,395,000

11,958,000

22,900,000
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HAH2AM(21)

H W

22,992,250

21,285,000
1,707,250

8,075,250

14,917,000

403 TtXISHHSAH=201A

H1 W

22,992,250

21,285,000
1,707,250

8,075,250

14,917,000

01 HXSHHA2EX
OHIE22E M X&

H H

22,992,250
22,992,250

21,285,000
1,707,250

8,075,250

14,917,000
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10,500
8,500
8,500
2,000
2,000
14,000
10,000

7,250

14,000

3,250
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OFDIKIBAY ST L4 4,000
p 4,000
207 ARl 40,000 0 40,000
pJ 40,000
EEENTT 40,000 0 40,000
OBTUSN FFAY BXINY INEY 40,000
b 40,000
307 QI2H0I & 85,000 90,000 25,000
b 45,000
< 40,000
02 SIHFAEE 85,000 90,000 5,000
02013 ZHZRNSEY 85,000
pJ 45,000
= 40,000
403 THXISHH SRH01 & 98,000 0 98,000
pJ 98,000
REXI SR K2 2 98,000 0 98,000
OBIAEHY +BBHES XV 98,000
pJ 98,000
4SS 4 22(21) 6.650 6,650 0
p 6.650
202 OfHl 6,650 6,650 0
pJ 6,650
01 2UHoil 2,920 1,650 1,270
OHSALN YREA 2,920
b 2,920
04 2R 3H01HI 3,730 5,000 A1,270
oRoze HEX Heleis 3,730
pJ 3,730
Y- UsY Ry 22 4,000 7,000 £3,000
201 L2 | 3,000 5,000 22,000
03 8 AL22H| 3,000 3,000 0
oR%el Hugo TS Ha 3,000
301 LerEAa 1,000 2,000 21,000
10 ALAIHI B &S 1,000 2,000 21,000
ORNTE| HUYS YIS AHIBA 1,000
SR EYH AY JIE O 10,000 10,000 0
201 Yer2 | 7,000 7,000 0
01 Ak 22/l 2,000 2,000 0
O+EAETH HH3I9 FT 2,000
03 #A2 2| 5,000 5,000 0
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301 2et2 Az 3,000 3,000 0

10 ALAHIE &S 3,000 3,000 0
OFZELLHESHM 32 AHIEH 3,000

X XM 2 143,000 195,200 252,200

st &/JH/X 28 =& 75,000 125,000 250,000

201 24| 25,000 85,000 260,000

01 At 22l ] 5,000 65,000 260,000
OostZdR U 3t 5,000

03 A2 20,000 20,000 0
ostdRS U 3 20,000

307 212tol ™ 50,000 40,000 10,000

04 UAHAE R 50,000 40,000 10,000
Ottt HA HEH2S ALY B2 50,000

=X IR =8 24,500 26,000 £1,500

201 2Er2 S| 7,100 4,600 2,500

01 AH2 2211l 7,100 4,600 2,500
O+=2&zd 2H3| YRFA 5,000
OUHSIESH NESE 2,100

202 Gl 16,500 20,500 24,000

01 = LHOAYI 16,500 20,500 24,000
O+=Z2&8z3d2d & =X& JIXML 16,500

301 2EtE A= 900 900 0

10 EAtAHIE A Z 900 900 0
OMENSIM =] XEFIRE AHIEY 900

QUREAIL 2t 43,500 44,200 AT700

201 L2 | 2,500 3,200 AT700

01 At 22l 1,500 2,000 A500
OM2H IARHAER 1,500

02 33244l 1,000 1,200 2200
o2& g3 3l 1,000

308 XM SOI A 26,000 26,000 0

02 d+=uR3 26,000 26,000 0
OLMRIANER F+nRS 26,000

401 AlIEHIZL R0 15,000 15,000 0

01 Al&2HI 15,000 15,000 0
OLMR2EAE KRIE+H| 15,000

OINE 2 otE A B2 67,699,088 83,110,876 215,411,788
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= 1,057,538
2 63,204,000
= 3,437,550

orEst o2 232 £ 8,550 13,300 24,750

201 L2 Y| 1,200 1,200 0

02 IB2HI 1,200 1,200 0
OBt M5taT B3l 1,200

202 O1Hl 7,350 12,100 24,750

01 2ol 7,350 12,100 £4,750
ONLTAM BE| S BXF 7,350

A4+RESTY FONR(2D) 1,057,538 1,192,296 A 134,758
= 1,057,538

403 XX SHHSXH2O0I & 1,057,538 1,192,29 £134,758
= 1,057,538

01 HXSHMREEE 1,057,538 1,192,296 £ 134,758
oasALETY FoIXY 1,057,538
= 1,057,538

SOlE M884 HY(2D) 43,686,000 42,462,000 1,224,000
= 40,377,000
< 3,309,000

403 XIS S XHRO0I & 43,686,000 42,462,000 1,224,000
= 40,377,000
< 3,309,000

01 HXISHREEE 43,686,000 42,462,000 1,224,000
Os0lE MEss Ny 43,686,000
z 40,377,000
= 3,309,000

A72 +EAE H(2D) 5,532,000 5,050,000 482,000
= 5,532,000

403 XHXI M SKH2OI & 5,532,000 5,050,000 482,000
2 5,532,000

01 RXISHR2EE 5,532,000 5,050,000 482,000
OATR A+TA& W 5,532,000
z 5,532,000

DEFLHAAL SX(2D) 5,000,000 1,000,000 4,000,000
= 5,000,000

403 XIS SKH20I & 5,000,000 1,000,000 4,000,000
z 5,000,000

01 RXSRRH 22 E 5,000,000 1,000,000 4,000,000
ODTHAH2IAL & 5,000, 000
z 5,000,000

A4BY HFBRIANLAY AH(2D) 12,295,000 12,253,000 42,000
= 12,295,000
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403 R XI SHH S XHOI & 12,295,000 12,253,000 42,000
2 12,295,000
01 HXESHXZEE 12,295,000 12,253,000 42,000
OM4+BY FMBZIAALY 25 12,295,000
el 12,295,000
/AT S=ME BES FX 120,000 0 120,000
201 Q2| 100,000 0 100,000
01 ALR22IH| 100,000 0 100,000
OURE Y=ME BSSUC HY 22 100,000
207 1R 20,000 0 20,000
NEEEETT 20,000 0 20,000
OUEME JISH(ME) 2A L 24 89 20,000
A 23 248,500 210,500 38,000
=2 75,000
& 173,500
OIS0 BESIA X4 173,500 150,500 23,000
202 01 3,500 5,500 22,000
01 ZUoitl 3,500 5,500 22,000
OOISCI2 & A JHRI| ASFA 3,500
403 XX SR S XHZO0| & 170,000 145,000 25,000
01 KXISH =S X 170,000 145,000 25,000
OZZSHA N - B2 170,000
TESRA SEY AL A (2D) 75,000 60,000 15,000
= 75,000
403 X SHSKH=0| & 75,000 60,000 15,000
= 75,000
01 XtXISHHI X2 X 75,000 60,000 15,000
OBZSTA SEY AL 7S 75,000
2 75,000
HN2AH (U222 H D) (IIEHIIE) 42,415 48,415 £6,000
o= 42,415 48,415 26,000
N2 =AY 42,415 48,415 26,000
201 Q2| 31,375 31,375 0
01 AtR 22l 31,375 31,375 0
oORAN2Y AR 2| 31,375
202 01H| 11,040 11,040 0
01 2K oY 11,040 11,040 0
oORN2Y oIt 11,040
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